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a1~54| 42|<0006 [0/6 | ND [0 { ND |02 {<005 |0/ {<002 |0/ <002 [0/ |<0.0005|0/12| ND {0/z [<0.002 |0/8 | <0.0005|0/8
39~7.3| 55{<0006 |06 | ND |0/6 | ND |02 |<005 |o/6 |<0.02 [o/6 | <002 |0/ |<0.0005|0/12| ND [o0/2 |<0.002 [0/8 | <0.0005|0/8
5813 | 81[<0.005 |0/6 | ND {08 | ND |0/2 [<0.05 |0/6 |<0.02 |0/8 [<0C.02 |0/6 | <0,0005{0/12| ND |[0/2 | 0.003 |0/8 | 0.0010]0/8
56~10 | 7.3| <0005 |04 | ND |04 { ND lon [<00s |04 |<c02 |04 <002 Jo/4 |<0.005[0/8 | ND [oa | o007 |0/2 | 0.008]0/2
45~71| 58| <0006 {06 | ND |06 | ND |02 |<005 |o/6 |<0.02 [0/ [<0.02 |0/8 [<0.,0005]0/12] ND [0/ | 0.002 {0/6 | 0.0008|0/8
37~ 67| 61|{<0.006 |06 | ND [0/6 | ND |02 {<005 |0/6 {<0.02 [0/ |<0.02 |0/6 |<0.005]0/12| ND |0/2 |<0.002 |0/8 | 0.0005(0/8
34~56| 46|<000 o6 | ND [0 | ND |o2 (<005 |08 |<002 |0/ {<002 |o/8 |<noos{on2| ND |02 i <0.002 [0/6 | 0.0011|0/8
290~62| 39|<0005 {06 | ND [0 | ND o |<005 |0/ |<0.02 |0/ {<0.02 |0/6 | <0.0005(0/12| ND |[0/2 | 0.002 {0/ | <0.0005|0/8
39~68| 53| <0.06 |0/8 [ ND jo8 | ND |02 |<005 {0/8 [<0.02 |0/6 |<0.02 [0/6 |<0.005|0/t2| ND |0/2 |<0.002 0/6 | 0.0006|0/6
45~68| 61|<0006 [0/ | ND [0 | ND |02 |<005 [0 f<noz lo/8 |<0.02 [0/6 [<0.0005[0/12| ND |0/2 | 0.002 |0/8 | 0.0005|0/8
27~861| 46<0006 |0/6 | ND |06 | ND |o2 [<0.05 jo/6 {<002 |0/ [<0.02 |0/ | <0005 012| ND |0/2 | <0.002 |0/8 | <0.0005{0/8
Ti~14 | 8.8]<0.006 |0/4 | ND |04 | ND |0/ |<0.06 |0/4 |<0.02 |04 |<0.02 [0/4 |<0.0005]0/8 | ND [0/1 | <0.002 |0/4 | 0.0037|0/4
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